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PHYSICS

SECTION - A
Miuiltiple Choscn Questéons This sochosn containg 20 midtip ke

chidice puesisans. Each guestion has 4 chosces (1), (2], 435 and
185 et of wéich OMLY OME |5 comect

Choase thi coamect anssse

1.  What & the dirensional formida of —!— [where g &
]

permeabiiity and £ s permittivity of free space
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Answer (2)
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I. An equilsteral prism b made of a materal of refadive

index oI Fnd angle of incidence for. mimemum
deniation of the light ray.
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answer {4)
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A =30
-ﬁ’-l.'+ -4
= -60 li=el

3. A partiche moves on a crcefar path of radius 1ome Find bs
disnlcermant when it moses fnom A -sB-s.4 -»8_ Also
its dirtance 2 £ moves from A8l =p8 =k .

(1] Dstanoe =21 m, ospaoement = 42 m

[Z] Demance =2 m, dispaoement = 3z m

(3] Désiance = 4x m, displacemeni =2 m

(4] Déstance =5x m, displacement = 2 m
Anseer [3)

Sol. Displacement = Shoviest distance betaeen fnd and

inlsid posiions = 2 m (One and hatt cycied
Distance = Total path kength covernd
=4 m [Two cyces)
4.  The moment of inertia of 2 rng of mas & and radks 7
aboit an asis passing through tangential podnt in the plane

of ring &
age? MR
1 — 2y ——
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|'3| :-’51-. [ﬁ' s,
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finswer ()
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5. A bdodk of mant m B suspended i3 vert cal plare wekh thie
haip o twse gt earinge ac chawn. Find tha ratio of tencion:
h
A

dL LSRR,

{2 -3

E jl; 14 o3

Answer (3
Sol T,cos30” = T,ross0"
L, cosed* 1
T, cos30° o3
& B diec of mass M and radius 2 m & hinged keaping i

horgontad i angufar acceleation of dsc k& Ira:l:.l'ﬂ Fnd
maoreent of inerta

ALY T
F=10M

(1) 10 kgnr (2} 5kgm'

(3 Bigm’ [4) 20 kgm'
Answeer (L)
Sol Tajx

=2 =20

i I g

Rakash

7. The figure shows the piates of a paralied plate capacitor
wifth a. sonaation 30 om and charped o0 3 poberriiad
gifference ¥, Fnd e potentlal dfference between 2 and
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Ainssaer (1)

Sol. W=Ej10em)

e ElS o
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8. Binding enesgy per mudeon in $H is x and far JHe s g
Find energy reieaued in the given reaction
TH ¥ JHe - JHE
[1] Ex=—2p
2] 5+ &p
i3] dr—ay
(4] Zy-dx
Answer (2}
S5o0i. BE=dy-[Ix+3x)

= dy = da
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5, Fgweshowsa uniformiy charged ring having charge 4 and
radias A. Find the distance from the cenbe on the aus of
thi ring where clectric feld is madmum

[y Ry 2} i—
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ki
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Sal E=

dE
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10. Two identical dops of radus ® and weface tension T
coalesce 1o farm a bigger dop. The drange 0 surtace
EnEEy 0 Ohis proCess &

= L : :
(1) *-"J'i'zl'{l 23 (2} ELH'zl:lanEJ
!
l- = [
13 4nA'T 1 l-E'] ] Erl:H'ziI': 2 1_.1]

Angwer {4)

Sal Volusme of bigger drop = i:n'z,’-zi 2 'r
3 L3

1
Ry =R(211

Initial energy = {4z8 T« 2

Final energy = 4nR" | E'IE T

LI Two gabanosmeters G, and 5, are having reskiors 8, = 501
and f; = TLL number of bums &, = 21, i, = 15, magnotic
figkts 8 =025 T, 8, =0.50 7 and area of codl A, = 36
» 30 ow and A, = 1.8 107 om’. And the ratio of their
wokage serativity

43
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7
Zr =
F ] 5

5
& = ]

=h b

Ansar (1)
Sol. T=AMAB= KT}

il B Nag

¥ R LER

[ Wy A8, R,
Ratio of woltage sensftivity =) L1 L

| NxAzBy IRy

21 36 0¥ 7

L2 Maich the Listd with the List 2
(1] Heal@pacity (@] Jkgtx*

(8 Spectfic heat capacity (B} JE

(M) Latent heat fc] Wm K"

fhi) Thermal conductivity (d) 1 kg™

(1] il fll=jd L gEE=0c ) [hee(a)

(2] B {Hl-al, Wikc), (vpa)

(31 B {1k fuikid) (hy-(a)

(4] diHBL (Hia), @i, (i)

Answer (4}
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13. I a systiem of measuresnent, elecinc charge (O,
perea by {jse) and efectric osment |} @ considened as

fundamental quanty. The dimencon of  lieear
maiEa Rl inths fatem =
i | | ) |
o low] (]
Answer (2)

sol. Lt P (@ g I 1
!_.l.ur‘lj - .t'EM“["T"'“""A"'""" ]
o=1 b= c=1

14. ‘whicn af the following Eems {labeliesd |, A, il iv and ) are
true

Whon an ideaf gas undergoes adiabatic process, {symboks
haee thelr usual meaning|

i} Atr=m
[ ==
[li) = Constant
W] %7 = Constani
Iv] W |Ti-Tif
B} ERL gul fivt
(23 [%) and iv]
(3 0 i, dv]
143 [, gk v
Answer |2)
SolL AO=0
= We-4l

2=al | Ti =T

L
.

Rakaush

150 A wase & traveling along a string. The waekength (i) of
Ehe wiaree 5 7.5 mand smpistnde i 2 om. AL e =0, there s a

crest at & = 0 and in 03 seconds it trawes a disance of
12 cm in e x-direction. The oquation of the wave &

2H|~4r—11—r||:|11 iz} Em:[—:x-BEII]:m

(] Emslﬂxril‘cm[ﬂ 2sin] ﬂx--ﬂfntlr_m
s 35 ) 15 7S
Answer (2]
Sol. L=75
i 7.5 IS5
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: 1
1% _lnlq.uhrmh-rudmi:. H:Em is hawing powes P

Another Bf comve lens of rads #, and &, & haing same

peraer P, then
1 1 i | 1
1 =—m. f.==—m —in, K. == mi
{1l E:_ glﬂ- - ] 3 2} R:_ E 3 1
1 1 1 1
| =—m, # =—m [4} =—m, By =—m
Ry g R, : Ry :
Answrr (1)
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17. T area of 3 coleroid is 4, length & L magnotic field inside
ks 8, and the medatser permeatity of medium & 2. The

engegy stored dus to the magnaetic field
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o diig
4 28° AL
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s Ha
funswer |2)
Sal. E-i- AL
2
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SECTION - B

Mumerical Value Type Questioms: This section containg 5
Mumserical based guestions. The answar Toopach question

shousid be rownded-aff 1o the neanest ineger

11 mmufﬁmm.:m.:mu"u?. where o, & the
radius of the first Boker orbd of . And X
BAnswer (3)
H'I
Sal =0 e
r |:||:,.l_E
Far L™ i ground staten = 1and & =3

1y’
ek
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23, Ttruhmg‘l:h-:iﬂusMngln 104 i wihely Bhl TENSKEN @ T &

5 M. The kength becomies 156 m wihien tha torecion i it 5
7. Thematural lengthof the stingls._ m
Answer (1)
S5o0l. T=&f=igl
= S=klld-Ll
= T=k|iI5S5-n]
= TLA-ki=5i1.56 -k

. '."Il.ll-—].E-IlEnﬁl -im

by

3. Aconcove mirmoe and @ oowes mimar of same focal length
ame gken. & real object 15 placed in Sont of the miror 3t 2

disianoe equal to ha¥ the ool ength. The ratio of laberad

ragnification in the image produced by concase mérmor fo

that peodeoed b tha comwex minmor =
Answes (3]
5ol o e
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= Ir -i
W : : I{ 3
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i =
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